ECO-FRIENDLY LAUNDRY-DRYING SYSTEM

DryAaway

Cabinet Design

and

Installation Instructions
2,4,6, and 8 frames

=\
\

AN
TN
AR
RN

N, T V—
A\

i\
LR
ARANY
-1\ -
VA

LT ——

=

LAWY
LR \RAY
TLl0L e
TLTALL Y
AL
AN _
\

\

\
AN
ALY

RN
AL

. A\\\
\\

A

AR
JRAN)
RN
AARAN

R ;%K .
&

DryAway.net | 855.379.2929 | support@dryaway.net



Cabinet Design /\ IMPORTANT! 2 frame ceiling
hardware must be installed

(Cabinet Not Included) while building the cabinet
or closing off the space

The following cabinet design is the most functional, efficient, and
easy way to build a cabinet to house DryAway. The DryAway
Cabinet is best constructed with parts instead of building out a
typical cabinet box. Think “30-inch-deep end panels” with a solid
top to mount the DryAway from. If the cabinet is delivered
preassembled it will be difficult to get it into the house.
Assemble the cabinet onsite.

PARTS LIST

« End Panels (30” x 96" x 34”) one or both sides - “Traditional”
with the style or “Frameless” without the style

* Filler Board (3” x 6’ x 34”) - used to make cleats and front rail

« Crown Molding as desired

» Ceiling Panel (Width (see below) x 30” x 34”)

Finished Cabinet - Clear Opening Dimensions
*2 frame - 9”W x 30”D x 90”H (229mm x 672mm x 2286mm)
* 4 frame - 15”W x 30”D x 90”H (381mm x 672mm x 2286mm)
* 6 frame - 24”W x 30”D x 90”H (610mm x 672mm x 2286mm)
* 8 frame - 30”"W x 30”D x 90"H (672mm x 672mm x 2286mm)
(Floor to ceiling height is best between 90" and 967)

No Cabinet Base. A typical cabinet base will push the clothes drying
up 3-4 inches which is small but critical vertical height lost. A design
without the cabinet base (toe kick) still provides a high end finished
look with the flooring continuing under the cabinet.

No Doors. To guarantee proper drying no doors should be used.
Closing off the space will not let the evaporation/moisture out of the
space. DryAway with all the frames filled with clothes pushed in, out
of sight and out of the way will dry at the same speed as clothes on a
typical accordion rack in the middle of the same room.

Just evaporation. No fans needed.

2
N D/yAvwqgy .

ECO-FRIENDLY Jf LAUND RY-DRYING SYSTEM



*Crown molding

optional
Cleat *Mount to underside of cleat (op )

1.5” (40mm) x 3/4” (20mm) ‘

*Inside ‘
— _—<—— Width I

3" Rail
3/4" Reveal

End Panel

96" (2440mm)

End Panel

U l e
~ }v\
Style 30" (760mm)

1.5" (40mm)

DryAway.net 855.379.2929 support@dryaway.net




Cabinet Design (Cabinet Not Included)

Step 1

Cut End Panels to size planning for a mounting height (floor to
underside of ceiling) between 90” and 96” (2286mm -2438mm)

Step 2

Cut a 29-1/4" section off the 3" filler piece and rip in half to make two
cleats. The rest of the filler will be used for the top front rail in step 5.

3/4"
=
7
Filler Piece >N\"Fr-;/4,,
/ =) ’4 .
Front Rail

- J
s N

Step 3

Attach cleats to the end panels with 1-1/4” wood screws

1-1/4” Wood Screws

1-1/4" Wood Screws

Traditional cabinet Frameless cabinet
(with style) (without style)

N ~

4
] D/’774 Way I

ECO-FRIENDLY LAUNDRY-DRYING SYSTEM




Step 4

2" Wood Screws
\ Inside Width
TSRzl 3/4"

Cut and attach the ceiling to the
End Panel cleats from below. Cut
the ceiling to 29.25” deep for a
traditional cabinet with a front rail
between the styles. Initially secure
with a nail gun but be sure to use
2” wood screws to provide vertical

Inside Width strength to support the load of
2 frame - 9"W DryAway hanging from the ceiling.
4 frame - 15"W Again, the ceiling must be made
6 frame - 24"W from a solid 34” thick material.

8 frame - 30”"W

IMPORTANT! 2 frame ceiling hardware must be installed
while building the cabinet or closing off the space

Step 5

Cut and attach the top front rail to fit between the styles. Add crown
molding as desired.

DryAway.net | 855.379.2929 | support@dryaway.net




/\ IMPORTANT! The ceiling will carry all the load. A solid 3/4” surface
is required to support the DryAway mounting hardware. Screw (not
nail) the ceiling panel up into side support cleats. See cabinet
design drawing to confirm your cabinet dimensions

You will need:

» 2 - Folding Tables (not required but makes assembly much easier)
e« 2 - Moving blankets

* Ladder (small two step)

* Tape measure

» 3/8” wrench

* Pencil or marker

* Masking tape

» Scissors and box knife

* Drill with 3/32” drill bit and #2 Philips bit

o #2 Philips screw driver

Setup:

1 - Setup Assembly Space with two folding tables covered with moving
blankets. Make sure the tables are spread wide enough to assemble
each end of the frames. Gather tools, as needed, from the list.

2 - Open box marked “Open First” or #1. Unwrap and account for all
parts. Build out one frame before unwrapping next frame.

6
N D/yAvwqgy

ECO-FRIENDLY Jf LAUND RY-DRYING SYSTEM



Each box contains parts for 2 frames:

(A) Template for drilling the center pilot holes for the mounting brackets
(B) 2 mounting brackets (only in the first box)
(C) 6 (+1 extra) - 1-1/4” #8 flat head wood screws
(for mounting brackets-wrapped inside brackets)
(D) 2 frames (8 parts - 2 tops w/ logos, 2 bottoms,
2 sides w/ holes and 2 sides w/ slots)
(E) 10 cross rods all wrapped in one bag
(F) 2 spacer rods in a second bag
(G) 2 Sliders
(H) 4 Slider hooks

Hardware Bag with:
(1) 8 (+1 extra) - M6 x 20mm flat head machine screws
(nut already inserted in frame)
(J) 4 (+1 extra) - M5 x 50mm flat head machine screws (for spacer rods)
(K) 6 (+1 extra) - 5/8” #6 flat head wood screws
(for attaching slider to frame)
(L) 10 (+1 extra) - #10 rubber O-rings (one per cross rod)
(M) 4 Nuts (+1 extra)
(N) 4 Screws (+1 extra)

DryAway.net 855.379.2929 | support@dryaway.net



IMPORTANT! Only attach the mounting hardware
to a solid 3/4” surface that can support DryAway

Installation:

1 - Installing mounting brackets. Measure the width of the back wall at
the ceiling to find the center line for DryAway. Mark the center line on the
back wall just below the ceiling in line. Measure 26” from the back wall on
the ceiling and mark the center line for the front mounting bracket.

2 - Attach the template to the ceiling mounting surface. Put two pieces
of tape on both ends of the mounting templet where it says “tape =>".
Starting with the back, line up the center line on the template with the
mark you created and tape the template tight to the back wall. Slide your
hand on the template forward to remove slack and attach the front of the
template matching the other center line mark you created.

8
NN DryAvgy

ECO-FRIENDLY LAUNDRY-DRYING SYSTEM



3 - Drill pilot holes with a 3/32” drill bit. Drill the pilot hole 1/4” deep
where indicated at the back and front of the template on the mounting
surface. Remove the template. These are the middle holes for each of
the mounting hook brackets.

(Rear hook assembly)

(Front hook assembly)

4 - Determine loading side. Both sides of the DryAway frame can be
used to load/unload clothes from, but one side looks nicer with the logo
facing you and the slider hidden on the other side. Normally if you have
a washer and dryer located on the left side of DryAway you would want
a left side load. The photo shows a left side load with the slider on the
right side. In this case there is a wall on the right side.

5 - Assemble hooks to sliders. Lay your slider out and orientate the
hooks and assemble as shown. The screws should be inserted on the
inside of the slider. Add the hook to the outside of the slider with the
lock nut outside of that. Make sure that the hooks are squared up and
all positioned the same. The hooks should be tightened so that the
hooks don’t move but don’t over tighten.

DryAway.net | 855.379.2929 | support@dryaway.net



Og"g« (M) 4 Nuts (+1 extra)
#10-32 lock nut - for hook assembly

@ (N) 4 Screws (+1 extra)
5% #10-32 x 3/8" #2 Phillips pan head

6 - Remove the Inner member of sliders. Pull the slider out all the way and
pinch the black plastic release and continue pulling the inner member of
the slider out. Lay them next to your frame parts to match the proper
assembly direction.

7 - Attach the back-mounting hook bracket with the provided 1-1/4” #8
flat head wood screw in the center hole. (If there is a layer of drywall
between the brackets and the solid 3/4“ panel than use 2” #8 flat head
wood screws to make up the difference). Position the Mounting Hook
Brackets so that the large openings in the brackets are on the same side
that the sliders will be on for the best visual look. With your drill and #2 bit,
screw the center screw in semi-tight.

10
N D/yAvwqgy .

ECO-FRIENDLY Jf LAUND RY-DRYING SYSTEM



8 - Position the bracket so that it is parallel to the back wall and tighten
the center screw to hold the bracket in place. Drill pilot holes with the
3/32” bit in the other two holes of the back-mounting hook bracket and
screw the mounting screws in tight.

9 - Attach front-mounting hook bracket. Repeat the above process
only after attaching with the middle screw, take two of the sliders (with
the hooks squared up and the inner members removed) and insert them
into the outside hooks (one left and one right). Wiggle them front to
back and find the even position for the bracket and tighten the middle
screw of the front-mounting hook bracket. Finish off the other two
screws with the same predrilling process.

/\ IMPORTANT! Remove one of the sliders from the hooks to
minimize the chance of it falling and injuring you or damaging
the floor. Without the frame attached, the slider doesn’t hang
vertically and can easily fall out.

10 - Build out a frame by laying out the 4 pieces on a moving blanket or
carpet. The side members have a longer space at one end which is the
top. Screw M6 x 20mm flat head screws into the 4 corners of the frame
with a cordless drill or screw driver. Add the spacer rod with the 2 M5 x
50mm long flat head screws. Don’t over tighten with the drill. Finish all
screws with a #2 Screw driver to minimize the chance of cracking the

frames.

11

8399.:5/92:2929 |

support@dryaway.net

DryAway.net




11 - Attach the slider inner member to the top of the frame. Flip the
frame over and line up the holes in the slider member with the 3 pilot
holes at the top of the frame. Starting with the center hole, screw the
5/8” #6 flat head wood screw in with your drill and #2 Philips bit.
Determine which direction the member should face. Be careful not to
tighten too hard so that the screw sheers off. Finish with your #2 Philips
screw driver.

12 - Add a rubber O-ring to one end of each rod by rolling it on 1/4” from
the end. Insert the other end of the rod into the hole side and the O-ring
side into the slot side of each frame. Normal adult clothes will allow 5
articles per frame with three holes between rods (the 6th spacer rod can
be used for smaller articles by moving the rods above and below).

13 - Install the frame onto the slider by holding the frame with one hand
in the middle of the top section and the other hand holding the slider
vertical with the slider members pushed in and the roller bearing at the
receiving end. Repeat until complete.

12
N D/yAvwqgy .

ECO-FRIENDLY Jf LAUND RY-DRYING SYSTEM



	cover1
	2
	3
	4
	5
	6
	7
	8
	9
	10
	11
	12

